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<RADER> (B M)
18 = A O % v A % IR A X F & & =
1 ZRBBE 75,883,500 74,493,850 1,389,650
1 INPRIREE 74,031,590 73,805,330 226,260
2 FEBHEE 332,850 332,850 0
3 BI(1-2) 2N RFELE 332,750 232,950 99,800
4 BEEHRFEE 1,316,810 122,720 1,063,590
5 FiHRIBEE A 130,500
6 ZNih — — —
2 RBELE 37,200 37,200 0
1 PTAZHESE 37,200 37,200 Ol6m=HE- E~155% 510
3 EHE 2,936,402 2,936,402 0
1 AIFHgHE 2,936,402 2,936,402 O|BiHIRRBBEEN, S
2 HIFEEZHE — — —
4 HUILA 36,400 36,400 0
1 BEHARES 36,400 36,400 O|mEm 34,400/, E¥R—)L 2,000M
2 FDih 0 0 0
(=] &t 78,893,502 77,503,852 1,389,650
<XHDOER>
I8 = X R TE B X W % *x . %A lim =
1 HRBMHE 74,037,767 74,037,767 0
1 XBE 332HATE 11,071,858 11,071,858 Ofk-/(v -
(2 #AFK L V28B) 1,954,245 1,954,245 0
2 BElBE s3mATsHE 56,820,625 56,820,625 0|43k e%
(2% HAK L EB) 4,191,039 4,191,039 0
=} &t 74,037,767 74,037,767 0
* X HRTEEE= R+ R 1L5E
IR A58 77,503,852 A
- HaLE 74,037,767 M
-E5I RS 3,466,085 A SHITEEE1FASE ~EH




